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Topic:- CDP_P2_S1_CTET

1)
Assertion (A) : The physical development of children is important as it also influences a
child’s social and cognitive development.

Reason (R) : All aspects of development are inter related in childhood and greatly
influence each other.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 28][Question Description = S19_CDP_Q001]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
2)
The principle that suggests growth follows a pattern beginning from head and then
proceeding to the rest of the body is :
(1) Proximedistal principle
(2) Cephalocaudal principle
(3) Principle of individuality
(4)

4)  Principle of uniformity



forarma o1 -1 fagia zrg g 2 for fosra for & we € & oi iR ol & et fewi § ot
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(1) wHmgufge fagm

(2) ST farsia

(3) =AfTa To=rensti =1 fargid

(4) UHEYE I fagid

1[Q:u[e;tic_>n III; =1212]][Question Description = S19_CDP_Q002]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

3)
refers to the process of predetermined unfolding of genetic dispositions.
(1) Maturation
(2) Scaffolding
(3) Adaptation
(4) Socialisation
STHET e < gd FA4ia geheieReo &t fshan =l Hefiid e 2|
(1) O
(2) 4=
(3) SIgRT
(4) HHTS R

[Question ID = 30][Question Description = S19_CDP_Q003]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

4)



According to Jean Piaget which of the following factors are influential in determining the
course of cognitive development ?

(i) Maturation

(ii) Conditioning

(i1) Punishment

(iv) Activity

(v) Social experience
(1) @, (), @v), (v)

(2) (i), (i), ()

(3) (i), (iv), (v)

(4) () (), i), @), (v)

it TSt o 19 et O & i § S G fas i fen faffa e €2

(i)  gftgEE

(i) ST

(iii) &M

(iv) Tomam

(v) HHIfSeR Ag9a
(1) (@) (), (), (v)
(2) (i), (i), (iv)
(3) (i), (iv), (v)

(4) (@) (), @), @), (v)

[Question ID = 31][Question Description = S19_CDP_Q004]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

5)

According to Jean Piaget a child who believes that water when poured from one container
to another, gains or looses in quantity depending on the shape of the second container :

(1) has not attained conservation
(2) has not mastered object permanence
(3) is limited in thinking due to animism
(4) is unable to perform seriation
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(1)
(2)
(3)
(4)
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[Question ID = 32][Question Description = S19_CDP_Q005]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

6)

The correct sequence of stages of cognitive development given by Piaget is :

(1)

Sensorimotor stage, Pre-Operational stage, Concrete Operational stage, and Formal
Operational stage

Pre-Operational stage, Concrete Operational stage, Sensorimotor stage, and Formal
Operational stage

Formal Operational stage, Concrete Operational stage, Pre-Operational stage, and
Sensorimotor stage

Sensorimotor stage, Concrete Operational stage, Pre-Operational stage, and Formal
Operational stage

Tt gy feu U Samedss fashr o =ROT o Hel H S B 2

(1)
(2)
(3)
(4)

[Question ID = 33][Question Description = S19_CDP_Q006]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

7)

Neha resists eating sweets her mother has got for guests because she might get caught.
According to Kohlberg's theory Neha is at which stage of moral development ?

(1)
(2)
(3)
(4)

Instrumental purpose orientation
Punishment and obedience orientation
Universal ethical principles

Good boy-good girl orientation



&1 R i YA |l g ATE THSTE S HeHMl o a0 &, @ H Uehdl € 98 W=t foh @M 9§ 98 THhal
S Hehd € | Fgerar o fagid % stER a1 Afas fawm =t ey s § 87

(1)  =ifser wraer stfife=mg

(2) ESN ST SR sifafam

(3) wEfHeE wfas fagia stffa=my
(4) ST TISehl-3T=8] oieehl Afafa=am

[Question ID = 34][Question Description = S19_CDP_Q007]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]
8)
As per theory children learn through interaction with more knowledgeable
peers and adults.
(1) Lev Vygotsky's
(2) Jean Piaget's
(3) Howard Gardner’s
(4) Lawhrence Kohlberg

forger fgril & STHER 9= o1 ¥ S8l 9 910l SHeRst 3 9u%eni | sid:frn &k dhen €72

(1) o1& AR
(2) i foars
(3) TEE MER

(4) @1 FEAR]
[Question ID = 35][Question Description = S19_CDP_Q008]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]
9)
What plays an important role in cognitive development according to Lev Vygotsky ?
(1) Conditioning
(2) Reinforcement
(3) Cultural context
(4)

4 Heredity



o AT % STaR 7= H & fepgent garrers fas & geerget ufir 872

(1)
(2)
(3)
(4)

HATHT
ERCE!
HiEh{dh
C G EIMETI

[Question ID = 36][Question Description = S19_CDP_Q009]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

10)

In Howard Gardner’s theory of intelligence, the ability to manipulate both the body and
objects is referred to as :

(1)
(2)
(3)
(4)

Logico-mathematical intelligence
Bodily-kinaesthetic intelligence
Interpersonal intelligence
Linguistic intelligence

TEE MER F 95 % fagia ¥ it 3 sl M1 1 FYCTdrges STAr FTH it &7l 1 S
gfg Fa g ?

(1)
(2)
(3)
(4)

TEH-TIIORT fgHe
RIEH-TIfd Helge s Jfg
siadafes I

e s

[Question ID = 37][Question Description = S19_CDP_Q010]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

11)

Visual-spatial intelligence includes :

(1)
(2)
(3)
(4)

The capacity to think in images and pictures, to visualise accurately and abstractly.
Sensitivity to rhythm, pitch, meter, tone, melndy.

Abi]jty to comprehend and create stories and poems.

Ability to classify natural forms such as animal and plant species and rocks and
Mountain types.



Twg-Tenfss dfg | o anfae €2

(1) =feEl oir fesi d d9em 1 e, 92 oIk od ®9 9 Feq FT i &l

(2) @, °Te, He, W, 9d % wfa gagTeite |
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1[9:.:;;1::; |I|; ==134§]][Question Description = S19_CDP_Q011]

2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

12)

A teacher’s remark to boys in a co-education class, “Be strong and don’t behave meekly
like girls” would encourage :
(1) gender equity
(2) gender stereotyping
(3) gender role flexibility
)

(4) gender equality

He-Toren e H @S] o fa ush forers =i feoqoh, ¢ S a1 3 el &1 0@ T3 98 74
" TRt I Sm?

(1) S gad

(2) et wigafa

(3) SfeX yfHer | ey
(4) S HHEA

[Question ID = 39][Question Description = S19_CDP_Q012]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

13 5 S 3 : :
) What should be the pedagogical strategies in a classroom with diverse learners ?

(1) Reasonable accommodation
(2) Standardized assessment

(3) Decontextualized curriculum
(4) Inflexibility in approach



ferfarer Tonenfel=di smeft san & Sieaforer wrifaat =0 St ey ?

(1) Sfaa aEEyE
(2) HEHIFHT HediwT
(3) TR-urEfiTs aresE

[Question ID = 40][Question Description = S19_CDP_Q013]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

14)
Which of the following is an important aspect related to assessment for learning ?

(1) Single strategy of assessment can provide complete information about a child’s
progress and learning

(2) It serves to observe changes in learning progress over time
(3) It does not identify individual and specific needs of all children
(4) It helps teachers to identify children who are mentally retarded

HieH = foe getien &1 Teh Heaqul ae] 1 § 7

(1) oo & fFdl TF & WwHlfd | o= 1 wifd 9 AR 1 geyqui s &1 gar feean sn
Tl B |

(2) ¥E HhEd H B ATl agerd 1 STaelish Hdl ¢ |

(3) T = o SAfgaTd 9 fafere sl 1 7@E geamar

(4) =€ feeni o1 AATRTE Hegfg at 9= @ TEEEY | Heg il ¢ |

1[Q:J?Stiqn |I|; =1: ]][Question Description = S19_CDP_QO014]

2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

13) Aim of Assessment should be to :

(1) Induce fear and stress in the students.
(2) Create feeling of insecurity and inferiority.
(3) Enable comparison among students.

(

4)  Aid in the process of teaching learning.
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[Question ID = 42][Question Description = S19_CDP_Q015]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

16)
Assertion (A) : Only special children benefit from inclusive education.

Reason (R) : The concept of inclusive education is based on the philosophy of
addressing only learners with some impairnment.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) Both (A) and (R) are false

HAT (A) :  GEEe e A Fae fove’ a= &) enafad 2h 2
Th (R):  GHEST fan it saurm 39 <9 W 19 © 6 haa o anf am et
o1 STl Rl &1 ifed feran S|
wel fased 74 |
(1) (A) 3 (R) EHi T8l € 3i (R) Tl =Imen 3l € (A) & |
(2) (A) @R (R) S W&l € wifere (R) et =amen 8 &ed € (A) i
(3) (A)H&l & dfeh (R) 7o & |
(4) (A) 2R (R) EHI e 1
1[.Q:J¢[e;';itci>::] |||[J) 3113]][Question Description = S19_CDP_QO016]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



7 To cater to students from disadvantaged backgrounds teachers should practise :

(1) Social exclusion

(2) Social marginalization

(3) Standardized curriculum

(4) Differentiated instruction

Sfad Iy o BE 1 GHES S o ol fieepl =1 fereet qier e =nfee ?
) HrHIfST SfeshRR

(2) HEISER BIfeER

(3) HEHIHA UISHHH

(4) fadfea few

[Question ID = 44][Question Description = S19_CDP_Q017]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

18)

is an example of assistive technology to aid mobility for students with
locomotor disability.

(1) Wheelchair

(2) Large print books

(3) Word prediction software
(4) Tactile materials

ot § A - wilifE-faes fasmetma & sga faefefE % o wfagiea e as
IR E?

(1) SErer=avafen F5

(2) = HEvETE foars

(3) e wfersgEofl Sren Wideds

(4) e G

[Question ID = 45][Question Description = S19_CDP_Q018]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

19)



Difficulties in mathematical concepts and computation are typical characteristics of
students with :

(1) Dyscalculia

(2) Dyslexia
(3) Dysgraphia
(4) Autism

wfordts stasmonatl SR o § wfemgal fa 2 o fafre fadmant 22

(1) ™ SFed
(2) U dHheH

(3) ©REA d&ed
(4) FSEAA

[Question ID = 46][Question Description = S19_CDP_Q019]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

20 Typical identifying characteristics of creative children include :
(1) Rigidity for ideas

2) High tolerance for boredom

3) Preference for complexity

4) Convergent thinking

(
(
(

THAIHS =11 i fAine qg=r fagmars § e €

(1) T =t e

(2) 3@ % fau 3= giewp
(3) Sifeern & o s
(4) wfvEd A=

[Question ID = 47][Question Description = S19_CDP_Q020]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]



2) Meaningful learning involves :

(1) Provisions of rewards and punishment
2) Opportunities to interact with each other
3) Reflections on learning how to learn

)

4) Opportunites for competition with peers

ayefqul saferm & e witaferd 22

(1) Y&FR 3R €8 H JauH

(2) WH TH % WY FaEd B h A
(3) HiEA % alsh W faEr

(4) wferE] o | giaegal & FEE

[Question ID = 48][Question Description = S19_CDP_Q021]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

22)
Assertion (A) : Learner-centred approach is one where textbook is the centre of all
learning.
Reason (R) : Students in middle school learn best when asked to reproduce the textbook
as it is.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

HI (A) : Torenedt-Ffen gfesm ag ® el weugwas ot e #1352 8

Teh (R): Treafass foamem o 2 99 o7=21 9iEd € 919 Y& &1 IH: U9 & & fau e
S IG

W&l fased 74 |

(1) (A) 3R (R) EHT T& € 37 (A) 1 (R) T =& & 2|

(2) (A) 3 (R) SHi T& € AT (A) T (R) T2 @A 7 &4l 2

(3) (A)H&l & e (R) 7o & |

(4) (A) 3R (R) EHI e

[Question ID = 49][Question Description = S19_CDP_Q022]
1. 1 [Option ID = 193]



2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

23) 2 o . :
In a socio-constructivist classroom, learning :

(1) Is a permanent measurable change in the child’s behaviour

(2) Is a process of co-construction of knowledge

(3) Happens by pairing of a stimulus and response

(4) Takes place when the students are offered positive reinforcement

ek HrHTTSTeh-TFATcHeR el H, 214

(1) =% % =ger § Tl w9 § o9 9rg qiad &)

(2) ¥F % "e-faim i uk ufehn T

(3) T SErA iR wafwn % 7 ¥ g €

(4) 9 BT T DI H] HRIHE A UIERY T S T |
1[Q1L1¢[ecs)t19n |||3 =159(7)]][Question Description = S19_CDP_Q023]
2. 2 [option ID - 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

24)
should be the basis for a conducive classroom environment for learning,
(1) Principles of conditioning and reinforcement
(2) Competition and individualism
(3) Cooperation and collaboration
(4) Segregation and labelling
sifep o fore SfEa e S &1 SR 2H =iEy |
(1) FFer 3R gree & fagia
(2) o IR =fEER
(3) TEENT S HEhReTshdl

(4) YRR o ATHHR

[Question ID = 51][Question Description = S19_CDP_Q024]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

25)



Assertion (A) : Encouraging middle school children to make intuitive guesses and
prompting them to look for different ways is an effective strategy to
promofte pmblem—solving skills.

Reason (R) : Children learn through the processes of discussion and thinking of
multiple perspectives.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

YT (A) : WA T % S R UES eHE oA % fo derfed e i % fafie
TR Y Tl F AU dieafEd S HHe-THH e I aeE o F fog
T gt Tl F

T (R) : o= fafu= gfesmi =1 ==i oiw dra =1 wirmel & mem § ded 3
W& fasey 74 |

(1) (A) 37 (R) SF Tl € i (A) 1 (R) TE =0 +2an §1

(2) (A) 2R (R) 1 W&l ¥ AIfeF (A) T (R) T =amem =& e

(3) (A) ¥l & @A (R) o

(4) (A) 3R (R) i e F 1

[Question ID = 52][Question Description = S19_CDP_Q025]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

26 : :
) Questions in the classrooms :

(1) Should be asked by the students and answered by the teacher only.
(2) Should be asked by the teacher and answered by the students only.
(3) Should not be asked or responded by anyone.

(4) Should be asked and answered both by the students and teachers.

e H 09

(1) ae =2 g0 I8 9 =ifen iR fadk faemr gri & o fomn o =nfew)
(2) Fad fes 57 Y@ 5 =ifen iR ok smi gr1 € S o = =nfew
(3) Tordt & oft grr 7t q@ oiR 7 s fou s e )

(4) B SR faarl <A1 g0 g i 3w fed s =nfew |



[Question ID = 53][Question Description = S19_CDP_Q026]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

27 y 3 £ :
) Intrinsic motivation amongst students can be increased by :

(1) Offering materialist rewards
(2) Negative reinforcement
(3) Fear of punishment

(

4)  Focusing on the joy of learning

ferenfel=i & riafter sifiron = Y S@mE S gHd 2

(1) sfifoererdt JOeFR UH &tk
(2) HNICHE HEEHW g
(3) B & Y4 EH

(4) HREA ® G W E higd Fh

[Question ID = 54][Question Description = S19_CDP_Q027]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

28) Students in middle school construct knowledge and make meaning through :

(1) Active exploration

(ii) Working on abstract problems

(iii) Enquiry and experimentation

(iv) Interaction with teachers and peers
(1) () i)

(2)  (©) (1) (iv)

(3) (1) (i) (iv)

(4) (1) () (i) (iv)



ue faenerd & B fora wfshanedi o gra 39 o1 faio sha € 3iR s1ed feprerd €2

(i) HfERE =

(i) A TS W HH HE

(i) TFAD AT TR

(iv) ToremeRi IR Sifee & W s
(1) (i) (i)

(2) (@) (i) (iv)

(3) (1) (i) @iv)

(4) (1) (if) (i) (iv)

[Question ID = 55][Question Description = S19_CDP_Q028]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

29)

Teachers should encourage children to think of ability as

Fixed; shameful and humiliating,

1
52; Incremental; an oppportunity for improvement.
(3) Fixed; an opportunity for improvement.
(4) Incremental; shameful and humiliating.
Toregent =i =nifew fo6 & sr=i skt A =i 3 YA i
o ferg wrearfed = |
(1) w=rh; s it sToarsHS
(2) ofgelie; ur < sTas %
(3)  TATEl; YHR & FEHL 5
(4) gfgefe; s @R STTFSE

[Question ID = 56][Question Description = S19_CDP_Q029]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

and failure as

w9 H He

30 would be a contributing factor for children’s academic failure.
(1) Collaborative learning
(2) Inclusive classroom
(3) Decontextualised curriculum
(4) Meaningful learning
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(1) Hearessh foe

(2) HHE el

(3) TR-WTH{TE qEFFH
(4) e s

[Question ID = 57][Question Description = S19_CDP_Q030]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

Topic:- SS_P2_S1_CTET

1)

Match the following in the context of rulers of Delhi during medieval period and choose
the appropriate option.

A B

(a) Tomaras (i) 1175 - 1192

(b) Ananga Pala (i) 1165 - 1192

(c) Chauhans (iii) Early 12th Century - 1165
(d) Prithviraj Chauhan (iv) 1130 - 1145

(1) (2)-(i), (b )( ) (C)( ) (d)-(0)

(2)  (@)-(ii), (b)~(iv), (c)-(i), (d)-(1)

(3) (@), (b) () (L)( ) (d)-(i)

(4)  (@)-@), (b)-(i1), (€)-(v), (d)-(iii)

Hegepel § fawelt & Sl % deo § fefafaa &1 faem wifey, it swgsr fasmes =1 g7
wHifery |

A B
a) MY (i 1175 - 1192

(

(b)  SHIYTA (i) 1165 - 1192

(c) =rRHA (iii) 2TRfYR 12 o o - 1165
(d) THERSERE  (iv) 1130 - 1145

(1) (@)(i), (b)-v), (o)-(iii), (d)-()

(2)  (a)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

(3)  (@)-@v), (b)-(1), (c)-(iii), (d)-(ii)

(4)  (a)(), (b)-(id), (c)-(iv), (d)-(iii)

[Question ID = 58][Question Description = S19_Social Science_Q031]



1 [Option ID = 229]
2 [Option ID = 230]
3 [Option ID = 231]
4 [Option ID = 232]

A W N -

2) In the ancient Tamil Nadu the settlement of were called Ur.

(1) merchants
(2) nobles
(3)
(4)

peasants
craftsmen

Y dfierrg | ! il &l 3 (Ur) Fed 9|
(1) =i
(2) T/ ATl
(3) wfdedi/feram
(4) Terwesd
[Question ID = 59][Question Description = S19_Social Science_Q032]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

" Match the following in the context of rulers of the fall of Mughal empire.
A B
(a) Farrukh Siyar i) 1759 - 1816
(b) Shah Alam II (i) 1713 - 1719
() Ahmad Shah (iii) 1754 - 1759
(d)  Alamgir IT (iv) 1748 - 1754
(D @-@), (b)), (c)-(iv), (d)-(ii)
(2) (@), (b)-(ii), (c)-(1), (d)-(iii)
(3)  (a)-G), ( ) (1), (0)-(iv), (d)-(iii)
(4)  (@)-(i), (b)-(0), (0)-(ii), (d)-(iv)



el HHR % 9a4 o Hed § frefafed s faer wifsg )

A B

(a) TREEEH i 1759 - 1816
(b) ¥E emem fgda (i) 1713 - 1719
(c) EHENE (iii) 1754 - 1759
(d) sTEmR T (iv) 1748 - 1754
(1) (a)), (b)- (ﬂ‘l) ()-(iv), (d)-(ii)

(2)  (a)-(w), (b)-(i), (c)-(i), (d)-(iii)

(3)  (@)(@i), (b)), (c)-Gv), (d)-(iii)

(4)  (a)-(id), (b)-(), ()-(id), (d)-(iv)

[Question ID = 60][Question Description = S19_Social Science_Q033]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

4 ; ;
) ’Coparcenary inheritance’ means

(1) favourite son inheriting his father’s estate
(2) eldest son inheriting his father’s estate
(3) division of the inheritance among all the sons and daughters
(4) division of the inheritance among all the sons
"SRR 1 HeaEms' v o A9 € !

(1) = O =R e fian =6t gufs faaga & foem
(2) U3 YA okl A9 T skt guf fowred o e
(3) u+fl o= 9 gl & 9 favma 1 favrsa

(4) 90 TH % o= forEa =1 favsE

[Question ID = 61][Question Description = S19_Social Science_Q034]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

*) The devotional hymns written in Marathi are known as :
(1) Stotram
(2) Bhajanam
(3) Prabandham
(4) Abhangas



Ut § ford v a1 forg 9 9 S0 S 7

(1) wEH
(2)  HSTH
(3) HEYH
(4) &9

[Question ID = 62][Question Description = S19_Social Science_Q035]

1. 1 [Option ID = 245]

2. 2 [Option ID = 246]

3. 3 [Option ID = 247]

4. 4 [Option ID = 248]

6)
Read the following statements about saints lived in present-day Maharashtra and choose
the appropriate option.
(A) Thirteenth to the seventeenth centuries saint-poets rejected all forms of ritualism

and social differences based on birth.

(B) These saint poets preferred earning their livelihoods and humbly serving fellow
human beings in need.

Options :

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3)  (A) is true but (B) is false.
(4) (A) is false, (B) is true.

HreE HeRTe H @ Heil & A § FreAfatad we w ufey st srgE fawes w1 gE s |
(A) oEdl 9 Taed] vaesl H§ g¢ Hid Hal 7 G UER F wHEIS] AR S AR ST

feriy fepamm

(B) 3 hfa Hail 7 TS A AR formarye siEetars wefl safei =l da &id gu i
ferar =hl stferes g foan |

Taereq :

(1) (A) 3 (B) 2 wE €

(2) (A) 3R (B) 3 e €

(3) (A) WE & iR (B) T &

(4) (A) 7TeRd € W (B) W&l

[Question ID = 63][Question Description = S19_Social Science_Q036]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



7 Which of the following are matched correctly ?

(A) Bakhshi - Officer in charge of military organization.

(B) Sadr - Minister in charge of religious and charitable patronage.
(C) Igtadars - Military commanders

(D) Kotwal - Officer in charge of town administration.

Options :

faerey :

(1) &= (C) ¥R (D)
(2) e (A), (B) ¥ (C)
(3) Fae (A) 3R (B)
(4) el (A), (B) HR (D)

[Question ID = 64][Question Description = S19_Social Science_Q037]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]
8)
Which of the following terms was used in Madhya Pradesh for “shifting cultivation” ?
(1) Bigha
(2) Bewar
(3) Baiga
(4) Mahal



Fr=fafad 5 | s s 521 9o § gHq @t o foru g%dmret 2 on ?

(1)
(2)
(3)
(4)

ElE]
EEE)
Edll

HEe

[Question ID = 65][Question Description = S19_Social Science_Q038]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

9)

Read statements "A” and "B’ considering the social changes in the early nineteenth century
and choose the correct option.

(A)

(B)

Lt B e s T
o =

= W
B S

From the early nineteenth century, we find debates and discussions about social
customs and practices taking on a new character.

One important reason for this was the development of new forms of communications
like books, newspapers, magazines and pamphlets were printed.

Both (A) and (B) are true and (B) explains (A).

Both (A) and (B) are true but (B) does not explains (A).
(A) is true but (B) is false.

Both (A) and (B) are false.

19+ H&1 & IR H HHEise 9fEmy & §a4 § HUAl ‘A’ T8 ‘B’ HI e a9 Hel faehed 94 |

(A):

(B) :

3

(
(
(5
(4)

19 of @t % yeerd ¥ & & wfae dfe-famsi o gea-amel & wefig agg-
garfed it F=isil #1 =Ey g foars &@ 2

T U 318 goig 48 off for Tur & 734 ad=i 99, frae, svger, afsmerd o o9 s
<1 ferehTe 21 221 o1 |

21 (A) TH (B) TEl € 3 (B), (A) T =W FIAT |

Ml (A) T (B) W@l € forg (B), (A) 1 =ame & ¥ ¢
(A) W&l & foreg (B) T & |

T (A) T (B) TTETE € |

[Question ID = 66][Question Description = S19_Social Science_Q039]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

10)



Read statements (A) and (R) and choose the correct option.

Assertion (A) : As a child Dr. B.R. Ambedkar experienced caste prejudices in his daily
life.

Reason (R) : Father of Dr. B.R. Ambedkar taught at an army school.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

FoA (A) TS (R) 1 98 q1 T&t 39 A |

T (A) : T AR, STEEHT | g9 § ol oy et | Sufrd v Ser o
WHEUT (R) : T H.3AR. TeEHt & fiar us & w5a § vg 91

w& famey 99|

(1) (A) 2R (R) 3FT ©& €, aiR (R) W& =rem =3 € (A) #i

(2) (A) 3R (R) 21 WEl €, wifera (R) WEl =amem 781§ (A) &

(3) (A)HEl &, @A (R) T €

(4) (A) 3R (R) THI 7Ted € |

[Question ID = 67][Question Description = S19_Social Science_Q040]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

11)
Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : E.V.Ramasamy Founded Self Respect Movement in the erstwhile Madras
Presidency.

Reason (R) : He did this to make people to fight against the caste based discrimination
within society.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.



Taeferfad el (A) S (R) =1 9T ST 39 faehed @l =47 Shifed |

T (A) : Bl AR YayE HEE SHISH § @iiiEE stk I e

THIOT (R) : I=i UH SN ] F916 § Sfard S<ure o faens ged i & o fan )
(1) (A) 3 (R) 3T F&l £ 37T (A) &1 (R) &l =40 & & |

(2) (A) 3 (R) SHT wE § A (A) T (R) T =are 18 & 2|

(3) (A) =g § &ifed (R) 7o 7|

(4) (A) 3 (R) 2T Terd & |

1[Q:.|t[e;titgn |||; =266§j|[Question Description = S19_Social Science_Q041]

2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

12 . j :
" Who opposed the Jinnah's two-nation theory ?

(1) Sardar Vallabhbhai Patel
(2) Khan Abdul Ghaffar Khan
(3) Vir Savarkar

(4) Maulana Azad

T =11 o -t fagia a1 fadiy fean 2
(1) HER deay 9§ 9oa

(2) WH egA TFRR EH

(3) R HEwE

(4) HiEAH A

[Question ID = 69][Question Description = S19_Social Science_Q042]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

13) Consider the fn]lowing statements regardjng revolt of 1857.

L A massive rebellion started in May 1857.

II. It was the biggest passive resistance to colonialism.

III.  Sepoys and common masses participated in large numbers,
Which of the following statement(s) is/are incorrect ?

(1) OnlylI

(2) Only Il

(3) BothIandII

(4) Both II and III



1

1857 & fagie & ai # frefafad wue v fa=m #ife

() = 1857 H Wil fagie &1 ARy ga |

(I) ¥ Sufavare & faeg 9o e sfairsd (fge) endem on
(I11) 35 faafedl sik 59 |em 3 a2t 9en 5 i fan

T 91 FHF e e o/ 7

(1) Fae (I)
(2) e (D)
(3) (1) S (1) <
(4)  (II) AR (111) S

[Question ID = 70][Question Description = S19_Social Science_Q043]
. 1 [Option ID = 277]

2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

14)

Consider the statements (A) and (B) about ‘Subsidiary Alliance” and choose the correct
option.

(A) Indian rulers were allowed to have their independent armed forces.

(B) Indian rulers were required to pay to the East India Company.

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4) (A) is false, (B) is true.

(A) 2R (B) FoAT W ‘were dfy' & def § faur #ifu v @ fasey = =97 sifaw
(A) REA DT 1 AT Ta= I 1 T i STAM o |
(B) YIS WTEeh] Rl % SFed1 SO =l YT il TSdl o |

(1) (A) 3R (B) SFT =& ¥
(2) (A) 3 (B) gl e €
(3) (A) %I g wiferd (B) TTeid 2
(4) (A) e ¥ @R (B) T B

[Question ID = 71][Question Description = S19_Social Science_Q044]

A W N -

1 [Option ID = 281]
2 [Option ID = 282]
3 [Option ID = 283]
4 [Option ID = 284]



") Consider the following pairs :

Planet Time taken
(for one spin on axis)

L; Uranus - 17 hours 14 minutes
1y Neptune - 16 hours (07 minutes
III. Saturn - 25 hours 40 minutes
IV. Mars - 09 hours 56 minutes

How many above mentioned pairs are correctly matched ?
(1) Only one

(2) Only two
(3) Only three
(4) All the four

T gl W fa=m shifau)

T 37O 3787 T YOI T W
) 9 - 17%2 14 T
(I) ==A - 168207 e
(I wifq - 259240 fAAe
(IV) HTa - 09 H2 56 foe
ST H fore g Wl Ao €2
(1) o TH
(2) Had &l
(3) hdaA T
(4) = =R
1[Q:J¢[ecs)ti<?n Ill; =278§]][Question Description = S19_Social Science_Q045]

2. 2 [Option ID = 286]

3. 3 [Option ID = 287]

4. 4 [Option ID = 288]

16)
Which of the following statements about the International Date Line is correct ?
(1) International Date Line is a straight line joining the North-Pole to South-Pole.
(2) International Date Line passes through water body only.
(3) International Date Line passes through both water and land bodies.
(4) International Date Line roughly follow 0° longitude.



st fafe v & o F fey § 9§ e oA g 7 2

(1) eraue fafy v us i v € 3w g o sl ya 9 Sed E
(2) e fafy T e STl 9§ S e

(3) e fafy e sefia 9 e ST 9T § e TeRd ©

(4) U fafy Y e 0° SYiE 1 STTET (WY-H1y) w

[Question ID = 73][Question Description = S19_Social Science_Q046]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

17)

Read the following statements (A) and (R) and choose the appropriate option given below.

Assertion (A) : By measuring the angle of the Pole Star from your place, you can come
to know the latitude of your place.

Reason (R) : The distance from the equator to either of the poles is one-fourth of a
circle round the earth.

Options :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.

Trefafaa sweHi (A) 3R (R) =l 9feq q21 3ugd fasheq @1 597 Shifad |

T (A) : I TIH T 89 TR 1 HI9 WIS 7T T T &I S e € |

IO (R) : fauad g 9 <M1 0% g & org i gl Y=t o IRl 7 & g &1 U = ¢
faeney .

(1) (A) 3 (R) ST Tl € a1 (R), (A) i TE =0T ©

(2) (A) 3R (R) 31 W&l § a1 (R), (A) Tl Hel = 76 ©

(3) (A) WEl € 9 (R) e @

(4) FHT (A) T (R) T ©

1[Q:J<[a;;itci>; |||; =21‘31]][Question Description = S19_Social Science_Q047]

2. 2 [Option ID - 294

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

18)



When we travel from an Indian city to Tokyo (130° 45°E), the capital city in Japan, how
many hours we will gain or lose (let us ignore the time required to reach the city) ?

(1) Gain about 4 hours

(2) Lose about 4 hours

(3) Lose about 12 hours

(4)

4 Lose about 8 hours

9 B9 U WA ¥el H STIE i TSEHET ST (130° 45 99 ) &1 A0 & & a9 89 fhad 5
S T =1 A (IR T UgTH & T @ 9T STEveE GHA 9 §H AsHe Y 8) ?
(1) eFIeT4 52 sfsia &l

(2) TS 4 S @

(3) IV 12 EE TEm

(4) TN 8 E A

[Question ID = 75][Question Description = S19_Social Science_Q048]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

(o]

19 : : 5
) The main minerals of oceanic crust are ;

(A) Magnesium

(B) Alumina

(C) Silica

(D) Nickel

Options :

(1) Only (A)

(2) Only (B) and (C)
(3) Only (A) and (C)
(4) Only (C) and (D)



TRRATE TS 3 e wh

(A) Frifrae

(B) T

(C) Taferm

(D) BIETS]
fawea .

(1) 9 (A)

(2) = (B) ¥R (C)
(3) e (A) ¥ (C)
(4) %9 (C) ¥R (D)

[Question ID = 76][Question Description = S19_Social Science_Q049]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

20)

A person had visited a region and found trees such as oak, ash, beech and birds like
pheasants, monals. Which one of the following vegetation regions he/she may have

visited ?

(1) Tropical evergreen forest
(2) Temperate deciduous forest
(3) Coniferous forest
(4)

4 Mediterranean forest

ek = A forelt € o1 S foman 3l ael <8 o, U1, S & S qe isie, A qaft el seA
T § § form aeafa &= o1 S foman g ?
(1) SUERfesHY HeEER 9
(2)  gitdrsy quidrd &=
(3) RIPUR =
(4) Y9 9REE &1
1[Q:J¢[e;tiqn IIIZD) =3Z]][Question Description = S19_Social Science_Q050]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



2D The growth of natural vegetation is very limited in which region ?
(1) Temperate region
(2) Tundra region
(3)
(

4) Torrid zone

Frigid zone

forg &3 o srga & wifoa wrepfaess sl fredt ¥ 2

(1) i skfzss &
(2 zged

(3) viid wfedsly &=
(4) I a3

[Question ID = 78][Question Description = S19_Social Science_Q051]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

Choose the correct option based on the statements (A) and (R) given below.
Assertion (A) : The water of the ocean is salty or saline.

Reason (R) : Ocean water contains large amount of dissolved salts.
Options :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is incorrect.

(4) Both (A) and (R) are incorrect.

Tefafad w91 (A) T (R) & SR 9 98 foshed &1 =94 Sif9
T (A) : HEENR F S AFU1Y 7 @R el # |

TR (R) : TR F Sl H o<1 060 8 5o g0 a9 8 ©
faerea :

(1) (A) 3 (R) SFl w& § a1 (R), (A) it W =arem g

(2) (A) 3R (R) TF T&l § W= (R), (A) T el == 761 § |
(3) (A) ¥l ¢ T (R) Ted & |

(4) 2HI (A) 9 (R) TTed € |

[Question ID = 79][Question Description = S19_Social Science_Q052]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]



4. 4 [Option ID = 316]

) The depositional feature of the wind is called ,

(1) Loess

(2) Mushroom rocks
(3) Moraine
(

4)  Stacks
Yo o AR R FEI ST |
(1) g
2) = I
(3) feie
4 =

[Question ID = 80][Question Description = S19_Social Science_Q053]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

24 : ; : g
" The place where a river flows into another body of water is called

(1) Delta

(2) Levees

(3) Oxbow Lake
(4) River's mouth

for wom w7 ot e steraf A frerdt ® 38 e €
(1) <=

(2) TS
(3) =UEia
(4) =< qEE

[Question ID = 81][Question Description = S19_Social Science_Q054]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



) Consider the following list of characteristics and identify the type of forest.
(A) The forests are so thick and receive rainfall throughout the year.
(B) Rosewood, ebony, mahogany are the important trees of these forests.
(C) These forests occur in the regions near the Equator and close to tropics.
Options :
(1) Tropical deciduous forests

2

Temperate evergreen forests

2

(
(
(

)
)  Coniferous forests
)

4)  Tropical evergreen forests

et geftarg el o fomR i @i a9 % 9eR o v i
(A) F oA & & 2T |l 9 ol Bt ¥

(B) INIgE, ST&H, HRITHT §9 YR o g1 o Hedqu g4 B |
(C) ¥ 97 Yu= T SR I Hia¥ % IH I S & |

faemeT -

(1) SweEkfesHa qofurE &=

(2) ST HEWRER a3

(3) FERI 7

(4) ToTehfesrET HeEER
[Question ID = 82][Question Description = S19_Social Science_Q055]
1. 1 [Option ID = 325]

2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

26)
Sustainable development refers to :

(1) Conservation of mainly renewable resources.

(2) Limited use of resources.
(3) Saving resources for our children and relatives.
(4) Conserve all kinds of resources, use only as per requirement and save for future.



Haq faswm &1 3919 T

(1) H&Ad: Tl GEeH! Rl HLe |

(2)  HEIHAT 1 HITHT ST |

(3) A9t Hawl ud HaftEi o fore dareE & 9= |

(4) Tt T2 o HHHAT T I ], HEd AEIHRATER TN FA 921 vfae & fag
EEisil

[Question ID = 83][Question Description = S19_Social Science_Q056]

2. 2 [option 0 - 330

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

27)

China, Malaysia and Indonesia are leading producers of which of the following
minerals ?

(1) Lead
(2) Tin

(3) Nickel
(4) Zinc

=, geifvrn it st e § O forg a@fes & sl seares 29§72

(1) HiEr
(2) fes
(3) FreFa
(4) ST

[Question ID = 84][Question Description = S19_Social Science_Q057]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

28 : : ; :
) In terrace farming, sides of each plot are raised in order to

(1) protect the seeds from pests

(2) retain water

(3) prevent fertilizer from being swept away
(4) create distance among different crops



A At | S % 91 gHel o foeil b W sS fem s gl
(1) HS o1 Hi2 A F=E S Hoh

(2) UF ZFE F i T W@

(3) @G & T Y

(4) FETI & SS9 I T S Hh

[Question ID = 85][Question Description = S19_Social Science_Q058]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

29 : :
) Permanent shops in a market are those which have

(A) people employed on a permanent basis.

(B) license from the Town Panchayats and Municipal Corporations.
(C) Dbeen functioning for more than 10 years.

(D) Dbeen located in large cities.

Choose the appropriate option.

(1) (A), (B) and (C) only

() (A)and (B) only

(3) (B), (O and (D) only

(4)  (A), (O) and (D) only

Tk R H Ut gFM o Bt © |

(A) <Rl % Fe=ur Fafrg @0 ¥

(B) T 7 vrex v oiR R fm o gdd g
(C) St10=dd R I gl gE €

(D) i geId: 98 wedl | gt §

I9gA Taked &l g4
(1) ad (A), (B) 3 (C)
(2) e (A) R (B)
(3) ad (B), (C) ¥ (D)
(4) EE (A), (C) 3R (D)

[Question ID = 86][Question Description = S19_Social Science_Q059]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]



)" The elected members in a Municipal Corporation are called :
(1) Senators
(2) Delegates
(3)
(

4)  Councillors

Executive

TR 1 | A T G 1 Ed € -
(1) HF=
(2) Hfafafy

(3) eIt (R )
(4) g

[Question ID = 87][Question Description = S19_Social Science_Q060]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

' Who appoints the Chief Minister and other Ministers ?

(1) The Prime Minister

(2) The President

(3) The Governor

(4) The Chief Justice of High Court

qerdHdl &R =1 {1 e e g 2

(1) wEFHs
(2) A
(3) TETUT

(4) = FEEE T A AEH

[Question ID = 88][Question Description = S19_Social Science_Q061]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

32)



Read the following statements (A) and (R) and choose the appropriate option given below.

Statement (A): Debt is a major cause of distress among farmers which has also resulted
in many farmers committing suicide.

Statement (R): Small farmers borrow money from money lenders to purchase seeds,
fertilizers and pesticides, etc. and unable to pay back their loans.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

fmfefad el (A) 991 (R) W foar & ek 3uge fasme 991
WU (A) : Fel fHEFET FI fauer &1 gea wR9 54 7 8, Gk §e 9 gae w2 fHaE |
AR Th L L

HUA (R) : Bie fFEM] 1 &S, @IE 9 HIEANER SH HHA! H Sed o oy "l 9 &5 od
& Fordl o e Fer <ok 7 T ¥

(1) (A) 3R (R) ST w&l & ot (A) F1 (R) D& =2 i § |

(2) (A) 2R (R) SHT TEl & A (A) FT (R) Tel =9me & 3 2

(3) (A) F& & @i (R) 7o 21

(4) (A) S (R) SFT Terd B

1[Q:1?;;itci>; Ill; =3z;§]][Question Description = S19_Social Science_Q062]

2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

**) Which kind of labour is prohibited by law in India ?

(A) Bonded

(B) Casual

(©) Daily wage

(D) Unorganized

Choose the correct option from the codes below :
(1) Only (D)

(2) Only (A)

(3) (A) and (B)

(4) (B), (C) and (D)



A | fohd T8 % 99 1 A g1 wiaeted T mn €2

(A) =R

(B) &fafgd

(C) fert

(D) erHwfad

=1 foau T el H ¥ Tat fawey 1 gaa #L |
(1) = (D)

(2) R (A)

(3) (A) ¥R (B)

(4 (B), (O) ¥R (D)

[Question ID = 90][Question Description = S19_Social Science_Q063]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

*»" The main reason behind having more than one level of Government in India is :
(1) Vast number of communities

(2) Security of the border areas

(3) To appease the Princely States

(4) Familiarity of the system during the British Rule

YId H FhR & Tk § AR T F &1 &1 998 € :
(1) THEEl % 99 qex

(2) HiHid & 5 g

(3) TEmEd #i g= FE (Fq F)

(4) Torfes wma o 50T e &l A= BRI

[Question ID = 91][Question Description = S19_Social Science_Q064]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]



) Consider the following statements.
(A) Boys make a better Scout’s leader than girls
(B) Girls are good at playing football
(C) Girls are gentle and good care-givers
(D) Boys are rough and bully
Which statements may foster ‘Stereotyping’ ?
(1) (A), (B) and (C)

(2 (A), (C) and (D)
(3) (B) and (C)
(4) (A) and (B)

Trefafaa sweAl g faar Fifvg -

(A) wEfRdl i gor H TTh T Seal WhIS TSt ad ©
(B) ISRl Fediel Wer H =5t et §

(C) Wl O (Figer) iR o1=si 3@are w3 arell ardl ©
(D) IS qa S 3 B 8

A H T Tigareal Hi 9 Fd € 2

(1) (A), (B) 3R (©)

(2) (A), (©) X (D)
(3) (B)#R (Q)
(4) (A) 3R (B)

[Question ID = 92][Question Description = S19_Social Science_Q065]
1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]

A W N -

3¢) Which of the following consists Parliament of India ?

(A) Rajya Sabha

(B) Lok Sabha

(C) State Legislative Assemblies
(D) The President

Choose the correct option :

(1) (), (B) and (C)

(2) Only (A) and (B)
(3)  Only (B) and (D)
(4) (A), (B) and (D)



frafafeg § 9 #9559 9 & 598 991 & 7

(A) THH

(B) wrRHHl

(C) T faur |

(D) rgHid

we fasey = 997 Fife
(1) (A), (B) =R (©)
(2) AT (A) 3T (B)
(3) AT (B) 3R (D)
(4) (A), (B) 3R (D)

[Question ID = 93][Question Description = S19_Social Science_Q066]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

) A secular state, according to Indian Constitution should

(1) encourage the dominant religion to bring other religions into its fold
(2) involve in religious activities for nation building
(3) not support any one religion
(4) not interfere in religious conflict in the country
YA HIGHH % SER U HH04 19 6l =1fgu |

(1) WYcawedt o =l 371 ¥H] &l YA d8d @ & fau gieafad/aid e
(2) I fmio o forw enfes nfafafes § i g

(3) et we end =1 gueds € &

(4) <wF enfife el faarg o ey & #T

[Question ID = 94][Question Description = S19_Social Science_Q067]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

38)



“India has an integrated Judiciary System.”
Which of the following explains this sentence better ?

(A) A person can approach higher court if they are not satisfied with the judgment of
the lower court.

(B) Decisions made by the higher court are not binding on the lower court.
Choose the correct option :

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.

(3) Only (A) is true.

(4)  Only (B) is true.

2

' STRA % U Uehichd AT sqae 2 1

Trefafad | 9 1F 91 39 919 i dedl ST il § 7

(A) =i 3= =rmEed S HEdl © TR 98 Frael seed % e § Haw 6
(B) U erarerl g fere T foi et swereml W A w1 E

et fasrey 1 =g Hifa

(1) (A) 3 (B) i == &

(2) (A) 3i(B) EHl TEa §

(3) HAA (A) WE &

(4) Hae (B) el ®

[Question ID = 95][Question Description = S19_Social Science_Q068]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

) The process of ghettiozation of a particular community results in
(1) its segregation from the rest of the society
(2) diversification of its culture
(3) protection of minorities
(

4)  its social empowerment



Torelt T ok BIRISTESIY i WishAT 1 dis 2l 8 |
(1) SHeHT k] HHIS H SAerTd
(2) 3Tl Hepfa = fafasfimm
(3) HCUHEIH H HIE
(4) TR | HfRR
[Question ID = 96][Question Description = S19_Social Science_Q069]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

40)

Which among the following is a step towards recognizing street vending as part of right
to livelihood ?

(1) Creating trading zones in towns and cities

(2) Banning vendors on streets

(3) Replacing vendors with small shops

(4) Imposing taxes by local government on street vendors

Tl i Sl O W S i Sfaehre % i & Y § <@ &I Tk a0 Fefafed §
Y 1 Uk FeH © 7

(1) Femy 3 Iel-T 9H 9= % fau vl F F2 3ol &1 fFn s

(2) Sl I HSHI YT FiqaiEd e

(3) B THMEI FI ST I SR T <

(4) o1 SR FEOY W GHH S99 W L TWER G FHL AT

1[Q1L11[e;t19n IIIIZ)) =3‘;§j|[Question Description = S19_Social Science_Q070]

2. 2 [Option ID = 386]

3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

41)



Consider the following statements (A) and (R) and choose appropriate option.

Assertion (A) : Sodial science textbooks should have several narratives both fictional and
real.

Reason (R) : Narratives enable the learner to understand ideas and institutions and
encourage introspection.

Options :

(1) (A) and (R) both are true, (R) explains (A).

(2) (A) and (R) both are true, (R) does not explain (A).
(3) (A)is true, (R) is false.

(4) Both (A) and (R) are false.

frrAfertad e (A) 3 (R) T o= sifs qer suesr fasmey o1 =97 Sifeu |

HYF (A) : AT O *T TRAYETH § 3T Hledfeh Ud arfash Sl guid e 9mey |

TR (R) : goid Afermeraied i fouml 9 g 1 gug@ o a9 99 € qon sfafieo
HreHIEd R 2 |

faerea .

(1) (A) 3% (R) S ®&l €1 (R), (A) I =41 FIa & |

(2) (A) 3R (R) S T& B 1(R), (A) I =& &l I |

(3) (A) @l g, (R) Tewd €

(4) Al (A) T (R) T £ L

1[Q:J¢[ecs)ti<?n Ill; =3‘;§j|[Question Description = S19_Social Science_Q071]

2. 2 [Option ID = 390]

3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

3

42)

The basic purpose of teaching social sciences at school level is to make students
(A) informed and rational

(B) professional

(C) politically proactive

(D) socially active

Choose the appropriate option.

(1) (@A), (B) and (C)
2 @) d (D)
(3 (A) ( ) and (D)
(4)  (A) (B) and (D)



Thell WX I AT Taa o a1 o SERyd 3699 @l faenfeai =i
(A) STHHER R difehar F=ET

(B) USSR I

(C) srifass €9 4 31fd |isha FM

(D) HHISE &9 9 FiFT T

I9gFa fahed =1 =97 Hifau|

(1) (A), (B) 3 (Q)

(2) (B), (C) R (D)

(3) (A), (O ¥R (D)

(4 (A), (B) &R (D)

1[.Q:J([e;;it<i):1 |||3 :3?;;]][Question Description = S19_Social Science_Q072]
2. 2 [Option ID = 394]

3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

43)
Which of the following is most appropriate to make students to understand various roles
and responsibilities of personnels of Mughal Administration ?
(1) Survey
(2) Role-play
(3) Time-line
(4)

4)  Open-ended Questions

Ternfel =t 3Tel Weme o kiHEl okt fafay gitersti v soeieE i gaar o fou freafated
T ¥ waifas STge FH W7

(1) Helaqm

(2) e e

(3) HHE-HHI

(4) G 3d 9 I

[Question ID = 100][Question Description = S19_Social Science_Q073]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

44)



If Parliamentary form of government is explained with an analogy of a school where
Principal is the Prime Minister and senior teachers are Council of Ministers. What would
be most appropriate analogy for school administrative staff ?

(1) Legislative

(2) The Opposition
(3) Judiciary
(4)

4 Executive

fomITer & WA % TIY SN SRR % TU<H B9 it SIS i S § STel G, G ®
e afte foerr, =15 uftag 81 == fommert we=iE & faw w9 |1 Svge 95yg 2 2

(1) faenfaem
(2) feraar

(3) AR
(4) =TT

[Question ID = 101][Question Description = S19_Social Science_Q074]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

45)

A teacher begins her class by discussing the incidence of people gathering to discuss the
issue of land for cattle grazing. She is most likely discussing which of the following ?

(1) Urban Administration
(2) Panchayati Raj

(3) Lower Judiciary

(4)

4 Reservations

ek TorfareRT ST01 e w1 STRY-TY) (HEEH) IRAE & fau gfa | gefug ame o g9t o fa
TR {3 81 T& N oh! S W == g1 Hdl € | 98 Frefafad | | form W Haifad ' 8 == 9
WE?

(1) R J9ET

(2) H=EEdl TS

(3) Traei =mrfen
(4)  FRE

[Question ID = 102][Question Description = S19_Social Science_Q075]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



46)

If any topic leads to heated discussion in a classroom, then what is expected from a
teacher ?

(1)
(2)
(3)
(4)

Teacher should silence all the students and defer the discussion indifinetly.
Teacher should deal firmly with open-mindedness and discuss such issue.
Teacher should scold those who are loud.

Teacher must strike off such tnpics in the beginnjng cm]y.

FHel H SR e Tawy sqmayol gfest 1 3ea= R § 79 U e | @ oqufa gan ® 2

(1)

(2)

(3)
(4)

Torerer =t Tt faenfela =61 wiiq s =few s uftes= o1 afafeq s & fou afim s
=feu |

Toreter =1 U "Hel 9 ui=El afteadr 9 el Jifey @il @ds foeri & W g ® 9
=1 el ST b |

foreter &1 S 3 TR H 9 W@ B 3% sl 9ifew)
forerr ey ° € U9 fawdi = &2 <91 =nfgu )

[Question ID = 103][Question Description = S19_Social Science_Q076]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

47)

Consider the following statements with respect to the role and responsibility of a social
science teacher and select the correct option.

(A)
(B)

ClG

2

ﬁﬁﬁﬁﬁﬁ
|53 —
T Mie® | ™ ”

She should keep students entertained with activities and projects.

She should be well informed educator who keeps herself upto date with the
contemporary events and issues.

Help learners establish a connect between life and school life day-to-day.
Ensure outcome based classroom environment to learners,

(A). (B), (C) and D)

A) (B) ©



e aratfess fasm e i ufge oik e o ded § f el i foam i o o&
Toereq =4 |

(A) = faenfet = nfafafidi it ufEemst % @y wRsH wo =nfen |

(B) 39 U Uwn ey g1 Al Sl wHeRTers geAnel R g8 & 99 | g & giua Tt g
(C) Torenfel=i =1 w1ep fp <o IR Spell S § Gew Tonfod 33 § Heg i |

(D) Toranfel=ni o foau wwdien snurfa e s gifrad i

(1) (A), (B), (©) ¥ (D)

(2 (A), ()R (©

(3) (B) 3R (C)

(4) (B), (O 7 (D)

[Question ID = 104][Question Description = S19_Social Science_Q077]

1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3.

4. 4 [Option ID = 416]

3 [Option ID = 415]

48)

While discussing gender roles in the classroom teacher should focus on which of the
following point ?

(A) Household work is not a paid work so it cannot be counted as productive work,
(B) Gendered issues are about women and girls alone.

(C) Case studies can be used to show that the process of socialisation is not uniform.
Choose the appropriate option.

(1)  Only (A)
(2)  Only (B)
(3)  Only (C)
(4) Both (B) and (C)



e 1 et yfsmedl w == e wua fees o e 8§ R aw st e s = 2
(A) =If "5 HE ' H g TRl g S SHGT 3H IEF A AG HIAl S = |

(B) ifireral o Hg fad afeenedl iR arsfal & 2d €|

(C) ¥ <A = Ty for HATSTeRIol e SATe Weh Sl T2l eidl &, 6 TZErs &1 Wi foman o

TFa1 S |
SUGE Taehed &1 =99 it
(1) Fdd (A)
(2) I (B)
(3) FaE (C)

(4)  (B) @ (C) <

[Question ID = 105][Question Description = S19_Social Science_Q078]
1 [Option ID = 417]
2 [Option ID = 418]
3 [Option ID = 419]
4 [Option ID = 420]

A wWw N -

49)
Which of the following example/examples in a classroom discussion could give better
understanding of gender equality ? Choose the correct option.
(A) National Anthem
(B) Story ‘Sultana’s dream’
(C) The suffragette movement
(D) Women’s right to wear clothes of their choice
Options :
(1) (A), (B) and (Q)
() (B),(C) and (D)
(3)  (A) (C) and (D)
(4)  Only (C) and (D)



TR SIS SRt THEl SRl A5 T o fore f 9 A 8 3are et § == % S fau S wend
27 wdt fasew 97 -

(A) T T

(B) ‘el 1 WS el

(C) wafesR e

(D) Hieell sl A9H Y5E % H9S YeT I AR

(1) (A), (B) @1 (C)
(2) (B), (C) 7 (D)
(3)  (A), (C) 7 (D)
(4) REA (C) a1 (D)
[Question ID = 106][Question Description = S19_Social Science_Q079]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

50)
A social science teacher wanted to discuss discrimination in her class. Which of the
following examples would be suited for the discussion ?
(A) Dr. Bhimrao Ambedkar’s childhood experiences
(B) Omprakash Valmiki's book “Joothan’
(€) Process of making the Constitution of India

Options :

(1) (A)and (B)
(2)  (B) and (C)
(3) (A)and (O
(4) Only (B)



ek grferek fagr &1 forfes oot e 8 deve & fovm W 9= e 9ed 81 e g
T /Y IeE == o Ty S9ge Bl ?

(A) =1 HiUE SHogH & F9 *h HJ9E

(B) Simy=HTel aleHifa ol Y& S’

(C) ¥Rd =l HfGeH 7 i Wisha

faeea ;
(1) (A) 3R (B)
(2) (B) ¥R ()
(3) (A)#R(Q)
(4) Ee (B)
1[.Q:J<[a;zit?; I|I[)> =412 (;]7][Question Description = $19_Social Science_Q080]

2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

51)

After introducing the concept of discrimination, in a middle level social science classroom
a teacher wants her student to engage in critical inquiry about discrimination faced by
people at lower social stratum. Which of the following activity/activities should find place
in her lesson plan ?

(A) Organizing debate on this topic.
(B) Delivering a lecture on “What is discrimination ?’.
(C) Collection of newspaper articles on discrimination.

Options :

(1)  Only (A)

(2)  Only (A) and (B)
(3)  Only (A) and (C)
(4)  (A), (B) and (C)



RHE T G 1 UEd S U9E U WA W ki wfeh foe sl e # fofee
femnfefl =1 ‘=1 I =1 3 Arl g1 YA fohe S el SevEl’ 1 HHieee S |
Hfed & =medr g1

e & 3 g nfafafymfafafrar Tt we g § e o gt § 2

(A) feu TTu fawa g2 e-foame = ST

(B) ‘HEWE 1§’ W U AWAT &l

(C) YeHE ¥ Hafd STEaR & @@l ol TH HLl

faerea :

(1) e (A)

(2) A (A) G991 (B)

(3) A (A) 91 (O)

(4) (A), (B) 91 (C)

[Question ID = 108][Question Description = S19_Social Science_Q081]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

52)
Read the following statements (A) and (R) on the role of social science teacher and choose
the appropriate option.
Assertion (A) : Social Science teacher requires understanding of multiple perspectives
on any economic or social issue.

Reason (R) : [ssue such as poverty and caste-based discrimination may require more
than one kind of explanation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

( Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

SIS



wreifees fomm & foerss w6t yftes @ frefefad semt (A) T (R) 1 9fee sk S92 faemey &
=Y Fhifeu |
HUA (A) : TRl enifeier g wraifsier ge o Uk wrifsie fasm o et = ggel gieshiv i qa
B Ffe |
THIOT (R) : RIS @@ i ST S8 02 o1 e il ¥ STl i &1 siedd 98 gl ¢ |
& fased =4 |
(1) (A) 2 (R) BT T& € 3T (A) F1 (R) Tl =00 & 2
(2) (A) 3R (R) HT FE € R (A) FT (R) S AR Tl HAl
(3) (A) @& 2 @feFA (R) e 2
4) (A) 3R (R) EHT Terd § 1
1[.Q:.|([a;[t)itci); |I|; ==413<3)]9][Question Description = S19_Social Science_Q082]
2. 2 [Option ID - 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

53)
Read the following statements with regard to social science curriculum development and
choose the appropriate option.

Statement (A): At middle stage onwards, students are required to study many topics
under the subject of social science and hence leading to curriculum load.

Statement (R): The major reason for curriculum load in social science is the way social
science curricular materials developed for school children which are non-
comprehensible,

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.



arifstes fasm st & fasrg & desl o frefafaa wort 1 ufen qen sugsa faded & =9
e |

HUA (A) : WEATHE (Tafeer) w & Iud faente=i i qmifses fomr & fau & siaid w5 5=
I-fauai o1 SAeE A ] SFEId Bdl © SR T8 UeAAl % YR 1 §el ¢

WA (R) : g fomm # ares=at 9R & fau ger s ge & T fow T @ ool 5= &
o, gt fasm ureasn Tt @1 fam foman o § 97 s @ 2

faeea :

(1) (A) 3R (R) 21 Wel € a1 (R), (A)FI F&l =0 &

2) (A) 3R (R) 2T T & 991 (R), (A) F1 T& =En TE §

(3) (A) 9EI € Wg (R) A B

4) (A) Ted @ 9% (R) GE €

[Question ID = 110][Question Description = S19_Social Science_Q083]

1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

54)
Which of the fo]lowing can be treated as secondary sources for a social science class ?

(1) Photographs from earthquakes in Bhuj and its description
2) Edited volume of articles on Akbarnama

(2)
(3) Jawaharlal Nehru's letters to Indira Gandhi
(4) Mahatma Gandhi’s book Hind Swaraj

Treferfad | 9 ferment i faam &t @en o fgdiae Sid @ 7% A S Hehdl © 7
(1) Y9 H 9= F 999 H1 T2l U6 39 famm

(2)  SAFHECH 9L oAl & Haifed Hererd

(3) Efeu Wi = ford TTu e 486 & U

(4) HETEHT Wi T TE fag @

[Question ID = 111][Question Description = S19_Social Science_Q084]

A w N =

1 [Option ID = 441]
2 [Option ID = 442]
3 [Option ID = 443]
4 [Option ID = 444]

55)



Match the following and choose the appropriate option.

(a) Analytical Rubric (i) Containing performance descriptors and learning
outcomes.

(b)  Checklist (ii) Single scale but detailed performance descriptors
(c) Holistic Rubric (iii) Binary scale but detailed performance descriptors
Options :

(1) (a)-Q), (b)-(id). (c)-(ii)

(2)  (a)-Gi), (b)-(3), (c)-(iii)

(3)  (@)-(), (b)-(ii), (c)-(i)

(4 (a)-(), (b)-(iii), (c)-(3)

Trfafaa =1 gafem #ifew $iK 39w fases g -

(a) fowormuneRss wafter (i)  WewH S SR s fshy faw g
(b) i T (if) TRl T e o weRi ook
(c) YIIIH EaNH (iii) <L A fohq fosga geei avis

[Question ID = 112][Question Description = S19_Social Science_Q085]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

56)
Which of the following questions assess the application aspect of cognitive process ?
(A) What were the reasons for the revolt of 1857 ?

(B) State one difference between economic activities and non-economic activities. Give
suitable examples,

(C) What are direct taxes ? Give examples.
(D) Many nations in South Asia are not federal systems of governance. Explain.
Options :

(1) (A), (B) and (C)
() (B), (C) and (D)
(3) (A), () and (D)
(4) (A), (B) and (D)



Frefafaa 5 | #1999y deemeTe uferan o ' eyErT’ Uge] & SehRed #id § 2
(A) 1857 o Tage = =1 s & ?
(B) emfeier nfafaferai iR R-snfefe nfafaferl & == w om fafed | soge Seew Sifem |

(C) Weasl L 3 & 7 FeTeL i |
(D) <feofl ufern # ¢ <o ® vmae &% W@ 93 E € samen #ife
Toaere -
(1) (A), (B) 3 (©)
(2 (B, (© R (D)
(3)  (A), (O ¥R (D)
(4) (A), (B) &R (D)
1[.Q:J¢[acs):)itci>or:] |I|; =414 ; ]3][Question Description = $19_Social Science_Q086]

2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

57)
Which of the following questions assess only the factual knowledge of learners ?
(A) Define climate and season. What are main seasons in India ?

(B) Give three differences between the way villages are managed today and in time of
mahajanapadas,

(C) How presence of flora and fauna affects the formation of humus ?
(D) What do you understand by the people as a resource ?

Options :

(1) 0n1Y (A)

(2) (A d (B )

(3) y (A), (B) and (C)
(4) (B)» (C) and (D)



Trefafad § 9 i 9 v, fenfel & Faa qedeTs IH F1 e Hid 8 2

(A) Serar] SR gEE St g e yra § g g sH 9§ 2

(B) TS % 994 H AR HeS9al o §HF H 6l 1 IRl i § 19 fay S|
(C) = Efd S SR Wift SivTd =kt Sufeerfd @ & i W fore yer g9 eewd § 2
(D) Wil =1 HEneH % &9 § e i 9 Y 7 g € 2

(1) e (A)

(2) e (A) 3R (B)

(3) e (A), (B) 3R (C)
) e (B), (C) R (D)

[Question ID = 114][Question Description = $19_Social Science_Q087]
1. 1 [Option ID = 453]

2. 2 [Option ID = 454]

3. 3 [Option ID = 455]

4. 4 [Option ID = 456]

58)

Which of the following are required to develop evaluation procedures according to the
RTE Act 2009 ?

(A) All round development of the child

(B) Connecting from local to global aspects of knowledge

(€) Learning through activities, discovery and exploration
(D) Learning in the child friendly and child-centered manner
Options :

(1) Oﬂly (A), (B) and (C)
(2) (B); (C) and (D)
(3) ¥ (A), () and (D)
(4) (A): (B) and (D)



ARAE, TR 2009 F STHER 3TheH Wshdl #l fasfad & & foau Frafafes § & faat
LI Bl E 7

(A) == =1 Haffo fasm

(B) M % WA § df¥as qggsil wl Srel
(C) Torameraml, @IS Ud st=auv1 g1 HiEl
(D) set-T1el 3R se-higd dfd § Hre

farene -

(1) e (A), (B) ¥R ()
(2) e (B), (C) ¥R (D)
(3) dd (A), (C) ¥R (D)
(4) A (A), (B) 3R (D)

[Question ID = 115][Question Description = S19_Social Science_Q088]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
59)
Assessment is done in schools for the following reasons. Choose the appropriate option.
(A) Certifying students of their learning achievement
(B) Understanding the learning difficulties faced by the students
(C) To make teachers accountable to the school
(D) To find out the ways and means to overcome the learning difficulties
Options :
(1) (A)
(2) (A) and (C)
(3)  Only (A), (B) and (D)
(4 Only (O)

Only
Only



ferrmerl ® smeRer Frefafad =l § fman S € |39 famed 1 =97 Sifa |
(A) Temnfei =1 39et At Haet Syaiferl @ yaiforg # o fau

(B) Taenferai gra fom siferm weed swfeasai =1 wraan foan =0 3R o & fog
(C) Tl =1 fomrer & wft Suer a9m & fo

(D) @ifermq Haeft feamdl § 3w & fore adiei sit el =1 g %3 & fog

(1) e (A)

(2) EE (A) ¥R (C)

(3) e (A), (B) R (D)

(4) = (©)

1[.Q:J<[e;;it?; |||3 =416 :]6][Question Description = $19_Social Science_Q089]

2. 2 [Option ID = 462]

3. 3 [Option ID = 463]

4. 4 [Option ID = 464]

60)
Which of the following questions assess mainly the social science learning outcome -
“Develop the capacity for empathy/appreciation and sensitivity” ?
(A) Describe the ways to restore ground water in your area,

(B) It is becoming very difficult to protect India’s heritage sites. Do you agree with this
statement ? Justify.

(€) A large section of India’s rural children are undernourished. Explain.
(D) What are hindrances in national integration ?

Options :

(1)  Only (A), (B) and (C)
(2) Only (B) and (C)
(3 Only (C) and (D)
(4)  Only (A), (C) and (D)



frfafaa § 9 #F | woa gerd: arfes faam % sfrmy freed - aggyfa odten o
Hegitad o fae &g argal =1 fae’’ 1 3T &3 © 2
(A) o1 & H o §e 1 e w0 w1 fafiEl  seeng wife)

(B) WINd % Ufagifass Tl o1 T&N AT STeid §R SIaT o W& § 1 90 3119 39 HeF § Ugnd
g 7 geanfye wifsie)

(C) WA o T4l o Uah 92 9N & o= FUIed & | e Sifer |

faeea

(1) e (A), (B) ¥R ()
(2) e (B) 3T (C)
(3) T (C) R (D)
(4) Ee (A), () ¥R (D)

[Question ID = 117][Question Description = S19_Social Science_Q090]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

Topic:- HIN_Q91-99_L1_P2_S1_CTET

1)

feu Tu Ry T sAUde® ufeu WA U T U & fore wew Iugea fawew @1 wEd
THITT |

T St S=eAdl 1 1 IS GHT TR & | UF & 91€ Uk A A 6 @ & 79 H | 179 61 & 9" 7
1 ITHT T AN I qU A H HIIW GHTE BT F i 9fiomg ardt €1 399 g9 5
STl 1 TIOR3 STl § 27R 3Rt go=ar e g @t 81 fer-ufafes siferes Hemn, eifum
a1 e 2R oo |t eFie faamd W sifq wfafsean =5, 3 99 eaR aefas @ & e
TEa €1 9 A 3ufu 38 A 1 G D ¥ A wad vt Sy 19l Ssianded @i S ]
=ifen 3iX s7ut ol eTedi &1 garA =feu )

‘T SRt S i RS A R W A § -
(1) 5 =1 <=elar die] 3 &

(2) T = TR

(3) W ugd 9 AT e

(4) T I et i S @

[Question ID = 118][Question Description = S19_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 469]



2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

2)

fau Tu TNy T sATgEE ufew aur 4P T uvH & fow wew uged fawed w1 w9
it |

T T Saerd 1 1 IS AT TR & | T o 91 Ush BT I1d & T8d @ 99 H | H9 R & 9 9
7T IHHT B TAEY I TU HIH FI R HEGE 9 F HRL IR0TH @6 81 S5 T T
SRl A1 ORI &1 STl € 317 e9RT wa=Tar efiet & et § 1 fer-wfafes sifuss grem, eifems
a1 e @i eras |eft sier faemdl W sifg wfafskan =, 3 9 7R omfas @ 1 af
TEA €1 U9 A 3T 3 A G 1 A WY el S9! 9T Saeie! i S FwT
afen, i et St et gewAr =)

HA I WAl A1l Rl G A W -

(1) wrFfas &9 4 fafia @ w9 2

(2) TR gt Sea= @ S @

(3) TEfGE B9 Y 9gd o= gfony fae §

(4) wHfEE T Y 95 O Herd &

[Question ID = 119][Question Description = S19_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

3)



fau wTu TNy w1 sArgEE ufew aur U9 U uvH & o wew uged fased w1 wad
ThiTT |

T T Saerdl i 1 IS AT el & | TR & o1 Ueh 3T o11d & T8d & 99 H | H9 ki ¢ 95 9
T ITHT T IEANE I JU A I HIIW FHGE BT F W 90T &l 1 399 90 51
SRl o1 TOeRT 21 St & o1 gt v s @ et 81 fe-wfafen siferss diemn, siferes
e e @R o1 | sta ol W aifg wfafen o, 3 w9 e amfas @re 3 af
TEA €| g9 A SHfAT 3 A T WA S B A Y TRt S!S Sl i Srd wAl
<1feu, S 79T S0l SMEdl I GHRAT =1fEy )

HA 1 G FHI € W1 UH RO § -
(1) ¥ % ATER T

(2) HA I = A HEAT

(3)  HF I THA

(4) ®F I A HE

[Question ID = 120][Question Description = S19_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

4)

feu Tu Ry T sAUde® ufeu WA U T U & fore wew Iugea fawew @1 wEd
THITT |

T St S=eAdl 1 1 IS GHT TR & | UF & 91€ Uk A A 6 @ & 79 H | 179 61 & 9" 7
1 ITHT T AN I qU A H HIIW GHTE BT F i 9fiomg ardt €1 399 g9 5
STl 1 TIOR3 STl § 27R 3Rt go=ar e g @t 81 fer-ufafes siferes Hemn, eifum
a1 e 2R oo |t eFie faamd W sifq wfafsean =5, 3 99 eaR aefas @ & e
TEa €1 9 A 3ufu 38 A 1 G D ¥ A wad vt Sy 19l Ssianded @i S ]
ey, ST STt Ui STEdl I GUA e

AT e i THEH T8 sl ol T8 § -

(1) sfees ==
(2) @R o e
(3) Fede =il © gfafswan S

(4) Teeier ardl skl QurAT

[Question ID = 121][Question Description = S19_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 481]



2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

5)

fau Tu TNy T sATgEE ufew aur 4P T uvH & fow wew uged fawed w1 w9
it |

T T Aaerd sl o 18 FIH TR € | T o 918 Tk AT A & Wd & 749 H | FA I & 91 "JEA
7T IHHT B TAEY I TU HIH FI R HEGE 9 F HRL IR0TH @6 81 S5 T T
SRl A1 ORI &1 STl € 317 e9RT wa=Tar efiet & et § 1 fer-wfafes sifuss grem, eifems
a1 e @i eras |eft sier faemdl W sifg wfafskan =, 3 9 7R omfas @ 1 af
TEAd €1 oH 7 3HfTT 39 W o WA € ¥ O 9O Uge) S9! A0 Siasiet i Sid wAr
afen i STt 2ol sl F GaRA =t

‘T’ H wnfae e R -
(1) sy fea
(2) HF I H9adl
(3) STA A

(4) T=OTC T @

[Question ID = 122][Question Description = S19_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

6)



fau wTu TNy w1 sArgEE ufew aur U9 U uvH & o wew uged fased w1 wad
ThiTT |

T T Saerdl i 1 IS AT el & | TR & o1 Ueh 3T o11d & T8d & 99 H | H9 ki ¢ 95 9
T ITHT T IEANE I JU A I HIIW FHGE BT F W 90T &l 1 399 90 51
SRl o1 TOeRT 21 St & o1 gt v s @ et 81 fe-wfafen siferss diemn, siferes
e e @R o1 | sta ol W aifg wfafen o, 3 w9 e amfas @re 3 af
TEA €| g9 A SHfAT 3 A T WA S B A Y TRt S!S Sl i Srd wAl
<1feu, S 79T S0l SMEdl I GHRAT =1fEy )

Yl % THER AT 1 1 & =iey ?
(1)  Sire =t avensf | gL |rTEl

(2)  Sire I A1 AR Gl

(3)  SireA S % ddies J gHUR

(4) SHeH S o ek Gre

[Question ID = 123][Question Description = S19_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

7)

feu Tu Ry T sAUde® ufeu WA U T U & fore wew Iugea fawew @1 wEd
THITT |

T St S=eAdl 1 1 IS GHT TR & | UF & 91€ Uk A A 6 @ & 79 H | 179 61 & 9" 7
71 3T B TAEY I G0 F F R gEEE €Y F R 9fiong @t 81 59 79 w1
TSRl o1 TOTRT 21 ST § TR 2R go=Ta1 Hfie & @t ¢ | fea-ufafen sifees e, efus
a1 e AR o9 | e faeml W sfa ufafeen o, 3 w9 9R mfes @ 11 gf
Jgand €| Y9 A SAfTT 39 9 1 Ha € §1 @ 999 Ugel S9! 3191 Sfiansiett i S wA
=ifen 3iX s7ut ol eTedi &1 garA =feu )

_royol eedi § wfe € -

(1) z=i3l =l 90 § T

(2) Tl &rd e

(3) 39T =Rl GLETR HET

(4)  STUHI T FEHIAT T HHA HEA

[Question ID = 124][Question Description = $19_Hindi Content/Pedagogy_Q097]

1. 1 [Option ID = 493]

2. 2 [Option ID = 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



8)

faw wu wertyT it sagde ufenw @ UW T uye & fow wew Iugew fawew @1 v
ThITT |

T o1 SFedl & ot IS HH TR 8 | Th o d% U A AN 8 @d & 99 H | F9 1 8 9 "7
T ITHT T AN 1 GU A I HIIW FHEE BT F e 9iomd ardf 1 399 g9 51
STTeRAT 21 TRIRT 21 ST € TR g9l wom=an ejfiet 8 et 81 fem-ufafes siferss wrem, sifemn
a1 e AR o9 | e faemdl W stfa ufafsmen en, 3 w9 g9R gmfes @ 1 31
TEad €1 o 7 3ufan 38 A w1 O 99y Uee S9! 10 Siadie i S wAl
e i st vl sedi # guwe =)

fargraur—fawres =1 g & -
(1) sifae dr=m

(2) <Yl SR

(3)  Siraerett

(4) T I SFTUSTHA
[Question ID = 125][Question Description = S19_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]

3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

9)

feu wTu TN @ saUde ufew dem 9w T v o fou wew Suge fashed @1 wEe
THITT |

T St S=edl i 4 IS G TE ® | UF & 9 UH I A9 € wWd & 79 H | 1 o1 8 | 3
I7 3T B TATEY HI GO F I R EEE Y F ER 9iony @t 81 55 g w
STl 1 TIRR &1 ST & 37R 39Rl go=ar i 2 @t & 1 fea-ufafes siferes Hemn, eifum
T = o a1 |t e foaemddl w sifa wfafesn &, 3 o9 eor omfas @ #:1 afd
ggad €1 o 7 gufa 38 A W 1 @ 9ey uge) S9! 219 Siadiet i S wE
=1fge A st Syl snedl = YuRAl =ifEy |

‘T’ vee | F99 aen faRe =@ © -

(1) THa=
(2) fafaa
@ g
(4) T

[Question ID = 126][Question Description = S19_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]



Topic:- HIN_Q100-105_L1_P2_S1_CTET

1)
feu wTu =Ny @t saMYEe afew dur 9w T Uy & foe e Suge fasen @1 wee
ST |
&4 fEg! & = em
3 evE o T
7 & E il & gad fase |
A YT Wi 3 @
3 == -
Rl T T8 9Tl A SIS A
ot = =8l T Hehd |
B A1E ST STl o & Wil s
S srfa e, afewd, smred =
TR #T T TIR T Y|

g # fod @rsh M =t ==t $1 | E?

(1) T &A1 &l @ ehi

(2)  eidfRer =i T HA GGl hi

(3) HSH UK A G AT Bl

(4) siafe &g faum =1 i FE @l i
1[Q1L1¢[ecs)t19n Ill; =510 §]7][Question Description = S19_Hindi Content/Pedagogy_Q100]
2. 2 [Option ID = 506]

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

2)



feu v wreaiyr Wt srgES ufew qen U e uyw & fow wed swgew fawmew @ we
hifaw |
g+ fags! & s <@
HR 79 T R
B 8 ¥ @l % wed e
B geat T 2R gE
AR T -
SR W T AT A ST A
ST =1 -Tel L Hehd |
T AE S0 3 & o Gl ar
S stafid sfomedl, gfvsa, st #
YR Y T dIR T 9T
e & STE T2 el S Tahal & T -
(1) =Rt & fHar Hemsie & €
(2) et % fard gea am i ©
(3) =R % Frand fedt o O 9% w O ©
(4) et % FramE 999 g5 @ §

[Question ID = 128][Question Description = S19_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

3)



feu v wreaiyr Wt srgES ufew qen U e uyw & fow wed swgew fawmew @ we
hifaw |
g+ fags! & s <@
HR 79 T R
B 8 ¥ @l % wed e
B geat T 2R gE
AR T -
SR W T AT A ST A
ST =1 -Tel L Hehd |
T g MU 27 & o Ereil A
S stafid sfomedl, gfvsa, st #
YR Y T dIR T 9T
‘2T AR ST ST % 9 @iei At -
(1) To=2i Asigy et shrd T
(2) To @ facise on 9% 9
3) o @ @St 9t Fed @ E
(4) To=i gl % o ve s 9
1[Q:Jf;tign |I|; =511§;3][Question Description = $19_Hindi Content/Pedagogy_Q102]
2. 2 [Option ID = 514]

3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

4)



feu v wreaiyr Wt srgES ufew qen U e uyw & fow wed swgew fawmew @ we
hifaw |
g+ fags! & s <@
HR 79 T R
%9 8 § = & ged fee |
B geat T 2R gE
3R G -
YA T T Al 3 Sl @nl
ST =1 -Tel L Hehd |
H A AW 3T & o Greil FmET
S stafid sfomedl, gfvsa, st #
T L T IR T 97T |
ot 9T feRaa & Ted © 2
(1)
(2) ewEl
(3) BN
(4) FARTE
1[Q:J.E=;tic_>n |I|; =511I;;)][Question Description = $19_Hindi Content/Pedagogy_Q103]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

5)



feu v wreaiyr Wt srgES ufew qen U e uyw & fow wed swgew fawmew @ we
hifaw |
g+ fags! & s <@
HR 79 T R
B 8 ¥ @l % wed e
B geat T 2R gE
3R G -
YA T T Al 3 Sl @nl
ST =1 -Tel L Hehd |
T 18 0 23 % o Wisi A
S stafid sfomedl, gfvsa, st #
T L T IR T 97T |
TRIARFE IR -
(1) hfargal
(2) Hfewd
(3) ==
(4) FARTE
1[Q:J.E=;tic_>n |I|; =51Z ? ]1][Question Description = $19_Hindi Content/Pedagogy_Q104]
2. 2 [Option ID = 522]

3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

6)



feu v wreaiyr Wt srgES ufew qen U e uyw & fow wed swgew fawmew @ we
hifaw |

g+ fags! & s <@
HR 79 T R
B 8 ¥ @l % wed e
B geat T 2R gE
AR T -
ST T T8 dTel 3 @] A
ST =1 -Tel L Hehd |
H A W 37e1d o o @il a1
S stafid sfomedl, gfvsa, st #
YR Y T dIR T 9T
‘qeet’ 1 FEFETE vee TE § -
(1) &
(2 W
(3) Wl
(4) =0

[Question ID = 132][Question Description = S19_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

Topic:- HIN_Q106-120_L1_P2_S1_CTET

1)
e e W g =AUk SUfaHE 9 S 1 < S @ GEE o e § s et €7
(1) F=1 R nifafaf
(2) A HAd Tfafafy
(3) = R fdfafy
(4) WAl siae Tfafafy

[Question ID = 133][Question Description = S19_Hindi Content/Pedagogy_Q106]

1. 1 [Option ID = 529]

2. 2 [Option ID = 530]

3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

2)



197 Y R § STl fore s arer sl o sifisredsl Sd 9E o119 I HEee B4 H i 2

o UH 2 o o1, SRy @ wreEe (fafa) & ggeE w5
= TH 2 1 foranelf = smarves w1 @ e

FE AT HIH * AU SEE UeH &

T w@E o Gid SIPTEehdl ol 991d L

A),

—

B), (C)

,’Dr
E"i
@
@

(
(B),
(A)
(A ( 3?‘"{ (D)

[Question ID = 134][Question Description = S19_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

3)

Trefafas 9 faem #3 -

(A) SITHTOT () wfaey i Frafaad &t g

(B) SHH () U o ge fa=r o 9af=s & &9 § yefiia s
(C) SEHR TFEfsm (1) SreFEmUt § <f 78 g Al 1 39 vea) § ferem
(D) I A (IV) U& WHHE & arl fagail 1 U §H8 § W&

(1) (A)-(D), (B)-(1I), (C)-(TIT) R (D)-(IV)

(2 (AW, )(1)( HI)aﬂ?(D)(

(3) (A, (B)-(D), (O-IV) R (D)(I)

(4)  (A)-IV), (B)-(I), (C )(H)ﬁ?( )-(1T)

[Question ID = 135][Question Description = S19_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

4)



FHefl H reues iR 9= St o g W =9 9 @ €)1 u famned 5@ fagra & g
TEqal ofr Ffeaell T o107 foaam Ten o @ E | T8 W IE FwE 6 TR 3 99§ o B
(1) e g=

(2) ferrreRg gam

(3) Taweroomers Fav

(4) EUEA AEcH Fel

[Question ID = 136][Question Description = $19_Hindi Content/Pedagogy_Q109]

1. 1 [Option ID = 541]

2. 2 [Option ID = 542]

3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

5)

Teferfad e ue -
(A) AT oIE YIS 1 saEmmst i fa=m 9 aftfad wa gftnfid e )
(B) SUIAIH: T SATHAR 9 US| & TSl iaT & Tl SHTade shrHehTsit @il gl | H

T S € |
(1) (A) TSR
2) (B)THE
(3) (A) 3R (B) EHi TE &
(4) (A) 3R (B) SF TTed ©

[Question ID = 137][Question Description = S19_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

6)

T Y el W, T SreATaeh farnfeit < ueh wrewam it 3t € oiR el ¥ R wied @ 3y A4 e
ga/faaR 231 iR U F 91y gt w0 | famnedi e R m e m w §2

(1) T o W 924

(2) SIS H 9SS

(3) TR did USA

(4) o e

[Question ID = 138][Question Description = S19_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]
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[Question ID = 139][Question Description = S19_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]
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[Question ID = 140][Question Description = S19_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]
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[Question ID = 141][Question Description = S19_Hindi Content/Pedagogy_Q114]
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[Question ID = 142][Question Description = S19_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]
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[Question ID = 143][Question Description = S19_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]
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[Question ID = 144][Question Description = S19_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]
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2. 2 [Option ID = 578]

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]
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[Question ID = 146][Question Description = S19_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
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[Question ID = 147][Question Description = S19_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

Topic:- ENG_Q121-128_L2_P2_S1_CTET



1)

Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. I
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier.

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

The narrator got her first camera after she gmduated.

Why did her father get her a camera ?

(1)
(2)
(3)
(4)

she wanted to learn photography.
her grandmother wanted her to click pictures of sea anemone and starfish.
her father thought it was a good idea for her to have one.

she needed a tool to record what she had seen.

[Question ID = 178][Question Description = S19_English Content/Pedagogy_Q121]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

The narrator did more black and white photography than colour because

(1)
(2)
(3)
(4)

she could not afford coloured prints.

she did not have a good camera.

she did not like coloured photographs.

she considered colour photographs to be absolutely useless.

[Question ID = 179][Question Description = S19_English Content/Pedagogy_Q122]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

3)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

3. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

5. Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Why does she feel more patient now ?

(1) life has become more difficult now.
(2) she does other things while waiting.
(3) she had got used to waiting,

(4) she knows the result will be worth it.

[Question ID = 180][Question Description = S19_English Content/Pedagogy_Q123]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Wildlife photography is important because it can make people realise that

(1)
(2)
(3)
(4)

photography is an enjoyable hobby.
wildlife needs to be conserved.

it is worthwhile visiting the countryside.
there are good earnings in this profession.

[Question ID = 181][Question Description = S19_English Content/Pedagogy_Q124]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Why is she unlike many other wildlife photographers ?

(1)
(2)
(3)
(4)

she likes to photograph both plants and animals.

she knows the best places to find wildlife.

she tries to click the best, attractive poses of the animals.

she takes photographs which record actual natural conditions.

[Question ID = 182][Question Description = S19_English Content/Pedagogy_Q125]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

The narrator finds it more difficult to photograph wild animals in current scenario
because

(1)
(2)
(3
(4

there are fewer of them now.

they have become more nervous of people.

it is harder to find suitable places to take photographs.
they have become frightened of cars.

[Question ID = 183][Question Description = S19_English Content/Pedagogy_Q126]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1. My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

2. I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

3. Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

4. It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

5. Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Which of the fo]]owing words is similar in meaning to the word, “alter’- as used in the
passage ? (para 3)

(1) amend

(2) develop

(3) change

(4) adjust

[Question ID = 184][Question Description = S19_English Content/Pedagogy_Q127]

1. 1 [Option ID = 733]

2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

My Love of Nature, goes right back to my childhood, to the times when I stayed on
my grandparents’ farm in Suffolk. It was my grandmother who encouraged me
more than anyone.

I got my first camera from my father after I'd graduated, when I had to go diving in
Norway and needed a method of recording the sea creatures I would find there. |
went off to take my first pictures of sea anemones and starfish. I became keen very
quickly. Obviously I didn’t have much money in those days, so I did more black and
white photography than coloured, but I was still using the camera as a tool to record
what I found both by diving and on the shore. I had no ambition at all to be a
photographer then, or even for some years afterwards.

Unlike many of the wildlife photographers of the time, I've tried from the beginning
to produce pictures which are always biologically correct. There are people who
would alter things deliberately. They are actually falsifying- changing the natural
surroundings to make them prettier,

It is important to think about the animal first. There can be a lot of ignorance in
people’s behavior towards wild animals. More and more people are now going to
wild places. The sheer pressure of people, coupled with the fact that there are
increasingly fewer places where no-one else has photographed, life has become much
more difficult for the professional wildlife photographer.

Nevertheless, wildlife photographs play a very important part in educating people
about what is out there and what needs conserving. Although photography can be
an enjoyable pastime, but it also plays a very important part in educating young
and old alike. Of the qualities it takes to make a good wildlife photographer, patience
is perhaps the most obvious-you just have to be prepared to sit it out. I'm actually
more patient now.

Which part of speech is the underlined word in the sentence given below ?

“Obviously, I didn't have much money in those days”.

(1)
(2)
(3)
(4)

Preposition
Noun
Adjective
Adverb

[Question ID = 185][Question Description = S19_English Content/Pedagogy_Q128]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

Topic:- ENG_Q129-135_L2_P2_S1_CTET
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

What led Kanda to keep all his property and belongings as a mortgage ?

(1)
(2)
(3)
(4)

He had to give dowry to all his daughters.
Margayya cheated on Kanda.
It was imperative to take loan for his daughters' marriage.

He spent money in gambling and drinking.

[Question ID = 186][Question Description = S19_English Content/Pedagogy_Q129]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

What was the reaction of villagers on the appeal of Margayya to raise joint-loan for

Kanda ?

(1) sympathetic
(2) cooperative
(3) supportive
(4) indifferent

[Question ID = 187][Question Description = S19_English Content/Pedagogy_Q130]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

How
(1)
2)
(3)
(4)

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

does a man with three daughters become bankrupt ?

as the size of the family is bigger.

few earning members in the family in comparison to non-earning ones.
wealth/savings spent on daughters’ marriage and dowry.

daughters’ husbands also starts living with them.

[Question ID = 188][Question Description = S19_English Content/Pedagogy_Q131]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

4)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

According to the passage, who has been blessed with three lives ?

(1)
(2)
(3)
(4)

A man who begets a son.

A man who begets a daughter

A man who begets both son and daughter
Margayya and Kanda

[Question ID = 189][Question Description = S19_English Content/Pedagogy_Q132]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

5)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which of the fol]owing words is similar in meaning to the word, ‘protestation’ as used in
para 1 of the passage ?

(D)

(

(

2)
(3)
4)

do not approve of

do not agree to

do not think about
both (1) and (2) above

[Question ID = 190][Question Description = S19_English Content/Pedagogy_Q133]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

6)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which of the following words is opposite in meaning to the word, ‘ruined’ as used in
para 2 of the passage ?

(D)

(

(

2)
(3)
4)

constructed
repaired
preserved
protected

[Question ID = 191][Question Description = S19_English Content/Pedagogy_Q134]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

7)



Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one :

1.

wa

“Your daughter’s marriage! I have to find you the money for it, but the moment my
service is done, you will forget me.” The other made several deprecating noises, as a
protestation of his loyalty. Kanda owned about twenty acres of land, a house and a
cattle, but all of it was tied up in mortgages-most through Margayya’'s advice and
assistance. He was a gambler and drank heavily, and he always asked for money on
the pretext of having to marry his daughters, of whom he had a good number.

In order to look for a partner for Kanda for a joint-loan, Margayya started convincing
the villagers and prepared to deliver a speech, “He must have a joint-loan because
he needs at least five hundred rupees immediately to see him through his daughter’s
marriage. You know how it is with the dowry system!” Everybody made a
sympathetic noise and shook their heads. “Very bad, very bad. Why should we
criticize what our ancestors have brought into existence ?”someone said. “Why not?”
another protested. “Some people are ruined by the dowry.”

"Why do you say some people?” Margayya asked. “Why am I here? Three daughters
were born to my father. Five cart-loads of paddy came to us every half year, from
the fields. We just heaped them up on the floor of the hall, we had five halls to our
house; but where has it all gone? To three daugthers. By the time my father found
husbands for them there was nothing left for us to eat at home!”

“But is it not said that a man who begets a son is blessed in three lives, because he
gives away the greatest treasure on earth ?” said someone. “And how much more
blessed is he that gives away three daughters ? He is blessed no doubt, but he also
becomes a bankrupt,” Margayya said.

Which part of the fn]lowing sentence contains an error ?

Many people / has been ruined / because of / the dowry system

(1)
(2)
(3
(

)
4)

(A) (B) ©) (D)

(B)
(D)
(A)
(©

[Question ID = 192][Question Description = S19_English Content/Pedagogy_Q135]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

Topic:- ENG_Q136-150_L2_P2_S1_CTET

1)



Consider these statements -
(A) The silent way considers language learning as a mental activity.

(B) According to the "Silent Way’ learner is a scientist or explorer building up his/
her understanding of language from exposure to and experience of it.

(1) (A) is right but (B) is wrong,
(2) (B)is nght but (A) is wrong,.
(3) (A) and (B) both are right and (A) is the cause of (B).
(4) (A) and (B) both are wrong,

[Question ID = 193][Question Description = S19_English Content/Pedagogy_Q136]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

2)

In a language classroom the relationship between teacher and student should be

(1) teacher as expositor and student as listener
(2) teacher as authoritative and student as silent recipient
(3) teacher and student as partners in learning language

(4) teacher as guide and student as follower

[Question ID = 194][Question Description = S19_English Content/Pedagogy_Q137]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

3 Which of these is based on counselling-learning theory to teach language ?

(1) Task based language learning

(2) Text based language teaching
(3) Community based language learning
(4) Suggestopedia

[Question ID = 195][Question Description = S19_English Content/Pedagogy_Q138]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

4 - = o=
) The focus of ‘Language across the Curriculum’ is on

(1) teaching language primarily in all classes

(2) teaching language with the help of all subjects
(3) teaching language in specific periods
(4) teaching language with extra-curricular activities

[Question ID = 196][Question Description = $19_English Content/Pedagogy_Q139]
1. 1 [Option ID = 781]



2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

5 : : : ;
) In a classroom a teacher is conducting this drill .

Shiva has written the letter.

He wrote it yesterday.

Shiva has completed the novel.

He completed it yesterday.

Hence, his/her focus is on

(1) Structural Practice

(2) Functional Practice

(3) Functional Communication Practice
(4) Social Interaction Practice

[Question ID = 197][Question Description = S19_English Content/Pedagogy_Q140]
1 [Option ID = 785]
2 [Option ID = 786]
3 [Option ID = 787]
4 [Option ID = 788]

AW N =

6)

In a classroom students are facing difficulty in writing the passage from active to passive
form. After observing the difficulty of students, teacher provides some clues and models
the task. Seeing that students changed the paragraph into passive form.

This is an example of
(1) Piaget’s Theory
(2) Krashen’s Theory
(3) Bruner’s Theory
(4) Vygotsky’'s Theory

[Question ID = 198][Question Description = S19_English Content/Pedagogy_Q141]
1 [Option ID = 789]
2 [Option ID = 790]
3 [Option ID = 791]
4 [Option ID = 792]

A WN -

7)

In a classroom a teacher asks the students to complete a story map with the help of some

headings such as - Title of the story, characters of the story, theme, climate and message
etc.

Here the students are involved in an activity of
(1) Cognitive constructivism

(2) Social Constructivism

(3) Behaviourism

(4) Structuralism

[Question ID = 199][Question Description = S19_English Content/Pedagogy_Q142]



1 [Option ID = 793]
2 [Option ID = 794]
3 [Option ID = 795]
4 [Option ID = 796]

A W N -

8)

In a classroom a teacher discusses a story entitled, “His First Flight” with students and
then asks them to dramatize it, before the class. Here the focus of the teacher is to develop
among students.

(A) Creativity

(B) Communication

(C) Collaboration

(D) Critical thinking

Choose the correct answer from the options given below :
(1) (A), (B)and (C)

(2) (A), (B) and (D)
(3) (B), (C) and (D)
(4) (A), (C) and (D)

[Question ID = 200][Question Description = S19_English Content/Pedagogy_Q143]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

7 Situational language teaching is based on the premise of

(1) Programming, Practice and Production
(2) Preparation, Presentation and Practice
(3) Presentation, Practice and Production

(4) Preparation, Presentation and Production

[Question ID = 201][Question Description = S19_English Content/Pedagogy_Q144]
1 [Option ID = 801]
2 [Option ID = 802]
3 [Option ID = 803]
4 [Option ID = 804]

AW N -

10)



Consider these principles and identify the approach which follows these principles

(A) Teaching explicitly about the structures and grammatical features of spoken and
written texts.

(B) Linking spoken and written texts to the social and cultural contents of their use.
(€) Designing units of work which focus on developing skills in relation to whole texts.
(1) Task based language teaching

(2)  Text based instruction

(3) The Lexical approach

(4) Cooperative language learning

[Question ID = 202][Question Description = S19_English Content/Pedagogy_Q145]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

11)
Examine the following tasks and arrange them in order in which they may be carried out

(A) Designing learning activities and tasks

(B) Instructing, monitoring and assessing students’ progress
(C) Stating the objectives of the course

(D) Identifying topics, themes and situations

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)
(2)  (B), (A), (C) and (D)
(3) (C), (D), (A) and (B)
(4)  (©) (B), (A) and (D)

[Question ID = 203][Question Description = S19_English Content/Pedagogy_Q146]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

"2 Which among these is the primary responsibility of classroom teacher ?

(1) Identifying learner’'s communicative needs
(2) Selecting the content for teaching

(3) Grouping learners into different classes

(4) Instructing the learners

[Question ID = 204][Question Description = S19_English Content/Pedagogy_Q147]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]



13) Language syllabus is concerned with

(1) implementation of educational programme
(2) evaluation of learner’s performance

(3) selection and gradation of content

(4) management of educational programme

[Question ID = 205][Question Description = S19_English Content/Pedagogy_Q148]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

14) Language learning entails

(1) mastering the elements of language

(2) learning the rules of language

(3) mastering the functional skills

(4) mastering the lexis of language
[Question ID = 206][Question Description = S19_English Content/Pedagogy_Q149]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

") Procedural syllabus of language learning are organized around

(I) grammar
(2) vocabulary
(3) topics

(4) tasks

[Question ID = 207][Question Description = S19_English Content/Pedagogy_Q150]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]






